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Question Number : 1 Question Id : 3354725331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which country wor the FIFA U-17 World Cup held in India? | 7 S 3 a®a § smafag $IwT s727-17 g6s F7H1h717

Options:

1. ¥ England | §T=
2 % Spain | qU4

3. % Germany | FHAT
4, % Italy | geaAl

Question Number : 2 Question Id : 3354725332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The %I?kaloid Factory is located at which one of the following places? | AT O € 50 G99 W Se@TA15S haed!

Options:

1. ® Ratlam | ¥adH

2. % Mandsaur | AgHR
2. ¥ MNeemuch | dim=r
4 % Dhar | &%

Question Number : 3 Question Id : 3354725333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Eﬂqigh o%g of the following bones is associated with the hurnan head? | g gt § @ %19 9 v A afeags

Options:
1. % Skull | Ut
2 % Pelvis | Ug

3. % Coccyx | anliE®
4 % Scapula | gIEET (@ B EE

Question Number : 4 Question Id : 3354725334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which year was the Indian Institute of Forest Managerment set up at Bhopal? | T o iume # wied e o= were
T T T Ay

Options:

1. % 1977
2. % 1980
3. ¥ 1982

4. % 19385

Question Number : 5 Question Id : 3354725335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

“world Habitat Day’ is celebrated on _____________ of every year. “fover amam T, waam ey _____________ Cal
AT AET 8

Options:
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1. ¢ First Monday of October | STfgat %1 Ugal SHar
2. % 1st October | 1 &eTat

3. % Second Sunday of October | #gaR AT gEiT e
4. % 2nd October | 2 SFTeT

Question Number : 6 Question Id : 3354725336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The word ‘socialist’ was added to the Prearnble of the Constitution of India by which amendrment? | T gz
ST HT & e ol WeaTa=T H "THETe e ol TS T T o017

Options:

1. % 44th | 44
o, % o7th | 27d
3 % 21st | 21d

4 % 42nd | 4z

Question Number : 7 Question Id : 3354725337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who took over as Union Sports Minister in September 20177 | WdaT 2017 | #2177 97 741 71 U, [0 T§9TAT?

Options:

1. ¥ Rajvavardhan Singh Rathore | TF=aas- W5 1817
2. % Vijay Goel | T Mo

3. % K] Alphonse | %5 SI®

4. ® Javant Sinha | 74d WegT

Question Number : 8 Question Id : 3354725338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When was the Electronic Voting Machine EVM) first used in India? | 9RT # geae i« i AT (S TH) T T5al
Tl TEGHTA il TTT 217

Options:

1. ¥ 1982
Z ® 1926
3. ¥ 1998

4. % 2008

Question Number : 9 Question Id : 3354725339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhich of the following is known as the ‘Queen of Arabian Sea’? | M9 H & o9 'aNa GAR & T4 & & § AT 9147 &

Options:

1. % Kochi | i

2 % Murmbai | 9%

= % Panaji | qorT

4. % Mangalore | AART

Question Number : 10 Question Id : 3354725340 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

What is the objective of Prime Minister's Econormic Advisory Council set up on 26th Septernber 20177 e,
2017 T TATHT W HAT T AT AATGH I TIRYS T T892 F47 57

Options:

1. ¥ Creating new rural development schermes | TTHT S @ 98 FF=T =T

2 % Recormmend reforms in Banking sector | s 83 # T & i #=r

% % Forrmulate economic policy for the next S years | &M S a9 o o0 amider Sifa 3= aw=r

4 ¢ Analyse issues of economic importance to the country | S = ATi® Tgcd & G5 1 BT [ ET0T FAT

Question Number : 11 Question Id : 3354725341 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Who %r;ﬂong the following was a well-known Hindustani classical vocalist? | 48 # & w19 Tw Wiekg fgrgearr ameia
e 417

Options:

1. % Pt. Hari Prasad Chaurasia | . WS ST
2. % Pt. Ravishankar | 0. T st

3 % Pt Shivkurnar Sharma | O T9agAR ami

4. ¥ Pt. Bhimsen Joshi | 0. HAa At

Question Number : 12 Question Id : 3354725342 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Shesh Shayi idol of which god is seen in the Bandhavgarh fort area of Umaria? | AT & areems e |
S T A a1 B Y T T 7

Options:

1. ¢ Lord Vishru | #7am e

2. % Lord Hanumarn | {TEH g0
3. % Lord Shiva | smam &

4. % Lord Krishna [ 9am Fg0r

Question Number : 13 Question Id : 3354725343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

IMNarme the famous temple of Sehore, said to be constructed by Vikramaditya and its renovation carried out by

Maratha Peshwa Bajirao? | @Tﬁmmmmmm%ﬁﬁmw%ﬁwﬁﬁwmmw
T &7 31T ST THAT HETaT YT aT=iiere e &l T8 <7

Options:
1. # Jain Temple | &9 Afex
2. % Sidhha Ganesha Temple | =g MUl Al

3. % Hanurman Termple | 50 ATST
4. # Lakshrmi Temple | @5HT Al

Question Number : 14 Question Id : 3354725344 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following rivers forms the southern boundary of JThabua district? | STe[sm Fel @1 ST HHr &
T § & @ 9 25T e a7

Options:
1. % Tapti | 9T
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= % MNarmada | 9821
= % Kalisindh | weiieer
4 ® Tawa | 74T

Question Number : 15 Question Id : 3354725345 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Where is the Bhagoriya Festival mainly celebrated? | ST Iodd & &9 & F5T BT AT 27

Options:

1. ® Bundelkhand | feaas
2. ¥ West MNimar | TrEHT AT
% % Baghelkhand | Teegs
4. % Malwa | ATFT

Question Number : 16 Question Id : 3354725346 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Name the first woman ruler of Ehopal. | #ITe &1 956 ATSHAT A6 &7 A0 da 54|

Options:

1 % Begum Sultan Jaharn [ =NTH Jed - SgT

2. ¥ Begurn Gauhar Qudsia | =TH e Faiaar
% % Begurm Shah Jahan | =T smg=gT

4, % Begurn Fateh Eiwi | &7 B4 g dfET

Question Number : 17 Question Id : 3354725347 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

;;;I;C; D;: t\;lvésog gg}.h?araﬂas does not belong to Madhya Pradesh? | Tgieiad oi=1 # & &9 72 09 F FelTeT 51 a7
Options:

1. % Maihar | 757

2 ® Gumalior | TETEET

3. ¥ Kirana | fRmT

4 # Senia | AFET

Question Number : 18 Question Id : 3354725348 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
___________ iz called the "Rani of Jhansi” | Tl ST T T TET ST gl

Options:

1. ® Rani Ahilya Bai | THT Sffgeamas
2. Rani Lakshmmi Bai | THT AgHEE
=. % Rani Durgawati | T giied!

4, % Alkadevi | ST

Question Number : 19 Question Id : 3354725349 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Mational Mathernatics day is celebrated in India on Decermber 22 o the birthday of

T Taam, 22 o &1 AT OT AT AT9T 21
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Options:

1. ® Harish Chandra | g

2 ¥ Srinivasa Rarmanujan | #-am Turg=e
3. % Shakuntala Devi | Saa gl

4, % p.C. Mahalanobis | o€ AEAMTET

Question Number : 20 Question Id : 3354725350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0
As per 2011 Ccensus,

BT O] Herdl FH STaTe! ATl T
Options:

1. ® Manipur | AiUgT

2. % Nagaland | AMHE
2. % Arunachal Pradesh | S0 T4
4 % Mizoram | TB=RE

Zeneral Maths and General Aptitude

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

335472129
2

Online
Mandatory
20

20

20

Yes

No

1
335472129
Yes

Question Number : 21 Question Id : 3354725351 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

The average age of a family with 8 members is 42 If the youngest is 1 year old and the oldest is 101, then

what is the average age of the rermaining 67 | 8 AT & Uk TILa I SET 31 42 31 913 Hod Tl Haed 1 ad # g

S T gt 101 @ g, 31 49 6 Y afte e o 7
Options:
1. % 35
= % 37
3. ¥ 39
4. % 41

Question Number : 22 Question Id : 3354725352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0
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What percentage of the following shapes are circles? / &= H@%’ﬂ’f CIRE TRl Fﬁ‘ﬁ'ﬁ@_ﬁfﬁ?
me A&V
Vavay
oVave
Options:
1. ® 25%
2 % 3%
3. ¥ 20%
4 % 15%

Question Number : 23 Question Id : 3354725353 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The remainder when 2x”— 18x* + 5x?— 6x — 20 is divided by x — 3 is 2% - 18x + 5x?

—6x—20T x-3 & faufag o W Iuha grar 21

Options:
1. % 43
o % 43
3. V7
4 ® -7

Question Number : 24 Question Id : 3354725354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the remainder cbtained whenp(x) = x* + x® + 2x% —x + 1 is divided by x + 17/
p(X)=x*+x3+2x7 —x+ 15 x+1 ¥ ToT o W 7 996 9 &Il £7
Options:

1. %5

2 ¥4

3 % 3

4 % 2

Question Number : 25 Question Id : 3354725355 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
If x2 +32 = 1, then what is the value of x? /ITc %2 +2 = 1,drx fﬂﬂl?rwﬁ‘?

Options:
1. %1
2 %y

4:'__],_,
ru|

=
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Question Number : 26 Question Id : 3354725356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
0,036 =7

Options:

1. % 08
2. % 008
3. % D89

4. ¥ 0.189

Question Number : 27 Question Id : 3354725357 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Find the average. | &g e
19, 6=, 20, 25, 20

Options:
1. % 31
= % 32
3. % 33
4. ¥ 24

Question Number : 28 Question Id : 3354725358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The sum of roots of the equation x23x+6=0is ./ HHITx2+x+6=0F Hﬁ o G
&l

Options:
1. ¥ -5
> %5
3. %5
4. ® -8

Question Number : 29 Question Id : 3354725359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The srmallest number to be subtracted from 1282 to make it a perfect square is

| TR A AT AGTH T
Options:
1.9 13

2. %2
3. %3
4 % 7

_____ - Ut &t se e 1382
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Question Number : 30 Question Id : 3354725360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Rarmn got 80% of the problems correct on a 25-problem test, 90% on a 40-problem test, and 70%ona 10-
problem test. What percent of all the problems did Ram answer correctly? | TR 5 25-TaTd! & 0ergm § S0% FaT,
A0 -HATAT Sl TeraT H 90% HaTe S 1O-TaTal @ uiig § 7 0% FaTe a5 [ T8 o TH TaTat & Fol ord - Tidad &1 a5

Options:

1. % B4%
2. % 7hik
2% B0%
4. % Z4%

Question Number : 31 Question Id : 3354725361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The average of 17 numbers is 70. If the average of the first nine numbers is 45 and the average of the last
nine nurmnbers is 90, then the 9th nurmber is___. | 17 Hemsil #7 ad 70 81 i wew AT wearsit @7 g 45 § oK
TR =t weETat &7 #fed 90 8, 97 9df HEr

Options:
1. % 100

2 %75
3. % 50
4 ¥ 25

Question Number : 32 Question Id : 3354725362 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

It g of a piece of work is completed in & days, then in howmany days can the rest of the wotk be

completed? 'ﬂﬁ%ﬁl’-ﬁﬁ?g SATET Sl T et 3 8 & STl &, o A9 S et faAT A o
FRE
Options:
1.v2
2% 4
Z. % K
4 % 1

Question Number : 33 Question Id : 3354725363 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Republic day in the year 1997 fell on a Sunday. In which year will the Children’s day fall on a Sunday? | @
1997 # mET feae w1 OET oM g ad | & TIera &1 0277

Options:

1. % 2002
2. % 2001
3% 2000
4. ¥ 1993
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Question Number : 34 Question Id : 3354725364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If 12 men can finish a work in 20 days, then in how many days will 15 men take to complete that work? | Tt
12 o U @1 @ 20 A1 § J0TE a7 a@d &, a1 367 B4 @ T8 T § 15 e d o7 w17

Options:

1. % 12

2. ¥ 16
2% 18
4. % 20

Question Number : 35 Question Id : 3354725365 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The total age of Anil and Sanju is 14 years more than the total age of Sanju and Sunil. Sunil is how many

ﬁr%s?munger than Anil? | ST 3 G5 F1 Fal ST T 3 GATe 1 Pol g & 14 o 1Py §1 Goter afeet & T o

Options:
1. % 12
oW 14
=% 1e
4. % None of these | T8 @ ®1g 91

Question Number : 36 Question Id : 3354725366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The average of S distinct positive numbers in the systern is 56. The nurmbers are arranged in ascending order.
If the middle term is 40, then what can be the largest number? | WOTHT § 5 T 2H-cH® gearsil &7 sfad 56 g
TRETT ARG 0 H SOaiearT 51 Il Aeg UE 40 &, a7 Te@an §%dT 707 51 9@ [ 57

Options:
1. % 56
2. % 90
2. % 150
4 ¥ 196

Question Number : 37 Question Id : 3354725367 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Simplify: / BTAH

xu—h X.‘l’h_f w oxf—a

Options:
1. % 2
R
2% 0
4 ¥ 1

Question Number : 38 Question Id : 3354725368 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
15th Dec17 Shift 2



15th Dec17 Shift 2

=X 5-4;<~.,525><— simplifies to: /=25~ X 57 X Y825 X Wﬁﬁ’rﬁr gl
ST B
Options:
1. % 0.04
2 ¢ 25
3 %oz
4 % g

Question Number : 39 Question Id : 3354725369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the cormmon multiple of 15 and 25 nearest to 500, | S00 ¥ F@ee 15 0d 25 HT JHF 0 19 H1]
Options:

1. % 450

2 ¥ 525

3. ® 515

4. % 500

Question Number : 40 Question Id : 3354725370 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
x0—4x% +4x* + %% - 20x? +22x - 10 when divided by x -2 leaves a remainder _ /xf—4x% +

4%t + 5% - 2002 22x 10 P x 2P AT o0 W A9heT_ TEaTE|

Options:

1. %10

Z % -10

3. %5

4. ¥ -G

Ceneral Hindi

Section Id : 335472130
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 335472130
Question Shuffling Allowed : Yes
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Question Number : 41 Question Id : 3354725371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Tt T I T AET -
Options:

1. mqefer

2 % o

3. % ey

4 %

Question Number : 42 Question Id : 3354725372 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TG M A, WISEN _____________ o EMET 2]
Options:

1. % a1

2 % i

3 v Eg

4 % gz

Question Number : 43 Question Id : 3354725373 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

I, 9, T, § B § = 87
Options:

1. % ages

2. ¥ g

3. % e

4 % zaf g R1E A51

Question Number : 44 Question Id : 3354725374 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T &1 UeTTA e | STy, AT &R Tgd____ Tl FaT 8]
Options:

1. ¢ arfear

2. ® argTHE

3. % P

4 % AT

Question Number : 45 Question Id : 3354725375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Sl W1 [Tt AR A5 51 @ddn’ 56 e # I Wuma @1 aarem
Options:
1. ¢ am
= % 9Ff
3 %
4. ® HgEAar
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Question Number : 46 Question Id : 3354725376 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
B & O A e H e | ey

Options:

1. % 749
2. ® 7T
3 % 9

4. divg

Question Number : 47 Question Id : 3354725377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Tl U1 ST T e o e e geg Mg H A a Ergy

Options:

1. gzt
2. % SR
3. % amr
4 #® TOAUR

Question Number : 48 Question Id : 3354725378 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“OET F A e e e Em g
Options:

1. & arg+3g

2. % Aqe+IET

3. ® Ag+IET

4. ® qH+FIT

Question Number : 49 Question Id : 3354725379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Toier |1 e e H g @ arg?
Options:

1. ¢ T+ Ta

2 ® Je+Te

3 % TR

4 ® di4aw

Question Number : 50 Question Id : 3354725380 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ity = oA e PE A g e ar ey

Options:

1. % g
o, & It
2 %
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4. ® o

Question Number : 51 Question Id : 3354725381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘A Wedd § AT e g H @ 27

Options:

1. % amae
2. ¥ T
z % amly
4 ® ahEr

Question Number : 52 Question Id : 3354725382 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T deg | TR H E I AT H A

Options:

1. % fgm e

2. ¥ T v
3. ® JoyTy gAY

4. % qgeiity qarg

Question Number : 53 Question Id : 3354725383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TR dier gerek o1 af T A g e ar e
Options:

1. % wwad g

2. % Ry # o

Z. % g g

4, & e HT

Question Number : 54 Question Id : 3354725384 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘aieT F T T R g gy
Options:

1. % gFiwer

2 % gims

3. ¥ aim

4 % grivg

Question Number : 55 Question Id : 3354725385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A Tedd A1 9, Tdd 24 &,
Aled] & FUSell A HHL H &7
AT |y AT, o0, TR & oo 2l

Ul A g A S a7
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Options:
1. % gedea
2. % g e
3 ¥ dR T
4. % Wik o

Question Number : 56 Question Id : 3354725386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
"I OT A 7 2 e

H I AT STw N 5] TE ewend e
Options:

1. % IJAF RN

2. ¥ JUAT STFAET

3. % o9 e

4. ¥ Ti=aA SEFEE

Question Number : 57 Question Id : 3354725387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“Thad” UCT ATAT Uids BT =4 =

Options:
1. & T, oI, AR, Affes

2 ® PEw, TS, ogrE, uwdEr
3. ® Zaar, yAge, T, T

4 8 o, MG, THGS, THIEC

Question Number : 58 Question Id : 3354725388 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Tored H S THT URRaT # & TH® STA@ & Joige0 &l eligd #iid-

Options:

1o O aar A F § Eod &
2. % g gl a0 @ Be

3. % I W o - IH AT I
4, % O - O ST AT UT AR TRl B

Question Number : 59 Question Id : 3354725389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

¢ ST - JUFTT T & —
Options:

1. % |awE

2 Taudiamed

Z % el

4 ® yoigemEl
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Question Number : 60 Question Id : 3354725390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TERT H U AT S
Options:
1 %o
2. % U
¥
4. % 4
Fural ECOHOIT]}.F ard PElﬂChEl}.FElti REl_j
Section Id : 335472131
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section | d: 335472131
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354725391 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following districts has the mazxirmum nurnber of Gram Panchayats? | gl # § fee fe o
STEFTH TTH U= 27

Options:

1. % Ehopal | |
= % Sagar | AT

3 ¢ Rewa | Tf@m

4. % Charnbal | v

Question Number : 62 Question Id : 3354725392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the primary objective of Food Parks established in Madhya Pradesh? | AT uda o S09 B2 Ok &7
TRITHEF J549 F47 57

Options:

1. ® Cooking food | TR qaTHT

2. ¥ Food processing | STl TEEE
3. % supplying food | @l &1 amgE
4. % Food marketing | |r=Il &7 THum=
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Question Number : 63 Question Id : 3354725393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which among the following districts of Madhya Pradesh has the highest percentage of workers dependent on
agriculture? | Heg near o Wi § & fore Fer # e ox Torde st &7 Igam nidad 87

Options:

1. ® Gualior | TaTwET

= ® Indore | 22T

3. ¥ Alirajpur | STRRFT
4. % Bhopal | AT

Question Number : 64 Question Id : 3354725394 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
& scherme for trairning worren farmers under the Madhvya Pradesh Wormen in Agriculture (MMAFWA) F‘I‘C-JECt wWas

being implemented with the co-operation of which country? | ﬁ?ﬁ%ﬂﬁv‘ﬂﬁw Heamsr | H Aige
RS 35 g AR vt o5t R 28 TG e e s e

Options:
1. % US4 | 9YFd T4 HET
2 % Denmark | 29074

= ® Australia [ sfegfomr
4 % New Zealand | TGS

Question Number : 65 Question Id : 3354725395 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhich among the following states is the largest producer of rice in the country? | FaeET #§ @ &4 a1 =9 I@A
T T F5T TcHSF 57

Options:

1. % Kerala | 9%

2. ¥ West Bengal | THH A

3. % Madhya Pradesh | 7T 0o

4. % Tarnil MNadu | d fIE'IFI§

Question Number : 66 Question Id : 3354725396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which is the %ioneering rural managerment institute established by Dr.Varghese Kurian in Anand, Gujarat 7 |
TR & &g o 2T EJTﬁG‘rﬂTﬁTFTERTFEJEﬁH ST T HaTel=T T &1 |7 57

Options:

1.p # Gujarat Co-operative Milk Union | THT ®i-aoeied e g

2. % anand Milk Union | =g e e

3. ¥ Institute of Rural Managerment, Anand | $E¢isg ATE & A=, A
4. % National Dairy Development Board | S9Hd 240 SddqHe a2,

Question Number : 67 Question Id : 3354725397 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ir1 the Constitution of India, PELHChEL‘j.FELti REl_j 15 included in the
TorT T

| AT o G |, W=Td O @i

Options:
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1. % Union list | &9 Gt

2. % Concurrent list | SHad! Gar
3. ¢ State list | T4 T

4. % Residuary power | SEide s

Question Number : 68 Question Id : 3354725398 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Prowision for 'Organisation of Village Panchayats' is contained in

U | o ETa o To WTfererT W 3 |icrer o i 3

of the Constitution of India. | ‘Tmw

Options:

1.9 Part IV, Article 40 | AATIY, 84{]?@?[4[)

2. % Part ¥V, Article 329 | 9T XV, 84{]?@?{329
3. % Partl, Article 11 | 9011, 6-1{]?@?[ 11

4. % Part ¥I, Article 245 | AT XHI, aaaﬁa245

Question Number : 69 Question Id : 3354725399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The 12th Five-vear plan tar Efgretex:l arl average annual growth of

AT FH AT H _______

Options:
1. %8
2 %8
3.9 4
4 ® 2
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

% in agriculture. | 12 TEEmie T==T HT

Question Number : 70 Question Id : 3354725400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
India is a party 1o the United Nations Convention on B1olog1cal DWEI’Slt}F mgned at Rio de Janeiro on the 5th

day of June _____ N % Sd T Tt 2t it f geargied S feemT o a3 T GFe- &7 0% 05 91 2
Options:

1. % 1969

2 ® 1952

= ¥ 1992

4. % 1994

Question Number : 71 Question Id : 3354725401 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
________ 15 the cultivation of two or more crops sirmultaneously on the same field. |

ST AT ST & Srféer BEAT B Wt 2l

Options:

1. ® Internal Control Systern | S 2= momeT
2. ¥ Intercropping | STAEHEHATHCT

3. ® Crop Rotation | W sTad-T

4. % Crop Diversification | waa Teferefim
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Question Number : 72 Question Id : 3354725402 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When was the Pradhan Mantri Gram Sadak Yojana launched? | We=a=i UTH TS F=T &1 JATCH Tl FaT 2077

Options:

1. % Dec 2000 | Tegmw 2000
2. % Sept 2005 | WEET 2005
3. % Nov 2009 | 7€ 2009

4 % July 1995 | I8 1995

Question Number : 73 Question Id : 3354725403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is known as "Vindhya Valley'? | Aty o & g o 9@ & 9 8§ S F6T 57

Options:

1. ® Forest areas near Vindhya mountains | @ udat & e @ ad &9

2. % Brand name of a private mineral water company | Wgde WA alet Fu-T & TS &1 A0

= ¥ 4 brand name of products of MF Khadi & Gramodvyog Board | TAUT EET U UTHENT G412 & Je0E1 o 715 &1 91

4 # Name of a school in forest area | 7 83 # S=mET &1 91F

Question Number : 74 Question Id : 3354725404 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhat percentage of allocated funds is to be utilized for small & rmarginal farmers
under the National Mission for Sustainable Agriculture (MSA)? | &1 $IT Sar fram! @ oy g qad gy i
(THTHTE) & TE S1ated e & fard= Sum fawam <t £7

Options:

1. % 25%
= % 33
3. ¥ 50%
4. % 5E%

Question Number : 75 Question Id : 3354725405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which year was the Union Agriculture Ministry renamed as ‘Ministry of Agriculture and Farmers' Welfare? |
Torey o | Sl o I HATAD 1 AT dae 9§18 U e T Fegmr HaTerey 7287 72T 477

Options:

1. % 2013

2. % 2014
2. ¥ 2015
4. % 20186

Question Number : 76 Question Id : 3354725406 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Where is Central Marine Fisheries Research Institute located? | Hgef 704 Tl oo SqSIe (Feaiar Har ATiede T
ST HEA) Wl 60 37

Options:
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1. % Goa | Tar

2. % West Bengal | TRH @A
3. ¥ Kerala | %

4 % Maharashtra | AgRTE

Question Number : 77 Question Id : 3354725407 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Bank Mitra’ is a person who is : | ‘@ = 95 qafF gaT s A0

Options:

l.p£3 Friend of the bank manager | 4@ A7 &7 0T 517 21

2. % Agent who gets loan for all villagers on 8 COMUTISsion | I8 T =T Tt TTHaTE= %1 FHTa 97 3007 [T 21
2. ¢ agent of a bank in unbanked remote areas | UH GE6 T T & HT TS 5101 5 g1 6 @l JTET 751 gia i gl
4. % Creates employment for villagers in a bank | s@ § AT & 507 T 9T #G71 21

Question Number : 78 Question Id : 3354725408 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

“Fellow Revolution’ refers to a Quantum increase in production of
TR #r ZafaT B

Options:

1. % Petroleurn | UZiferem

2 ¥ Edible Qil seeds| @Ter dd oF &
2. ® Chicken | =T
4 % Industries | =T

Question Number : 79 Question Id : 3354725409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Marme the scheme that was launched by the Union Mlmst? of Rural Development to offer employrment to tribal

youth in 24 Naxal-affected districts. | 24 e FTET H AT 12T Faalf T AR o o 1o g 12 T T
AT ERT & &1 115 FT HT A0 adT3:

Options:

1. ¥ Rahini | wTiEAT
2. % Ranjana | &7
= % Roshni | TrasT

4, % Ujjwala | F=ar

Question Number : 80 Question Id : 3354725410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When was the Soil Health Card Scherne launched? | T T F12 A7 Fa I &1 115 417

Options:

1. 2015
= % 2017
3. % 2016
4 % 2014
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Cormputer Knowledge

Section Id : 335472132

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472132
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354725411 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

what is the largest and smallest font size available in Font size tool in MS-Word 20077 | THIT I2 2007 | HFT?!E
ST (TS T H JUAS 2 Teld &I2T o el T '-hT-ic HTRTE () T '%?

Options:

1. % 68 4
Z % 74 10
3. % 70,8
4 ¥ 72 B

Question Number : 82 Question Id : 3354725412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The process of removing unwanted parts of the figure {image is known as: | 3TFE | =F & g A & g2 &1
WieaT A FEaATd T &

Options:
1. ® Cutting | e

2. % Hiding | gEET
3. % Moving | GiET
4. % Cropping | @G

Question Number : 83 Question Id : 3354725413 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In M5 Word, portrait and landscape are: | THUE 92 #, Tl HK ASqFT 5 &

Options:

1. % Page orientation | 0 S0
2 % Page text style | U ¢d GEBd
3. ® Page number | UF Fa%

4. % Page print | o= T

Question Number : 84 Question Id : 3354725414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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________ are specially designed computers that perform complex calculations extrermely rapidly. |

Tarfdme w0 & T&ATe Ty 0 FHUET § A1 AT MO T ST a1 % A w8
Options:
1. % Servers | @t

2. ¥ Supercormputers [ YOUEHIIET
3. ® Laptops | #UEIT
4. % Mainframes | #-FH

Question Number : 85 Question Id : 3354725415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT an MS Excel 2007 chart? | FiA@Ed § € §27 0@ TATE UFad 2007 @1 951 87

Options:

1. # Doughnut | M
2. % surface | TWHA
= % Radar | TEW

4« Bookrmark | gFATE

Question Number : 86 Question Id : 3354725416 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Junk e-mail is also known as: | F® 5-Hd 59 A0 o HT A= 9697 5

Options:

1. ® Error | TRT
2 ¥ Spam | 900
3. % Spoof | qUF
4. % Spool [ qga

Question Number : 87 Question Id : 3354725417 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which unit in a cormputer is responsible for managing the parts of the cornputer? | % FHIET &1 B4 A1 T,

Options:

1. ® Logic unit | @1 gi-e

2 ® Arithrmetic unit | sefifes e

3. ¥ Control unit | FEA AT

4 % None of the above | SWigd #§ & F1E 751

Question Number : 88 Question Id : 3354725418 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Inn M5 Excel, the cell reference for a range of cells that starts in cell E1 and gDES over to Column G and dowr o

row 10iS: | THTE Ugda §, @ &1 ¥ & oy a8 9 (i, Saar (v Bl #5172 R #1a0 G 93 10 9@ a7 8, Ha7 &
Options:
1. % G1-G10
= ® EB1.G10
3. % B1.G10
4 ¥ EB1:G10
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Question Number : 89 Question Id : 3354725419 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Line spacing 1sinthe ________
Options:

1. ¥ Home tab | A

2. ® Insert tab | 5EE &

3. ¥ Viewtab | g4

4. % Review tab | g g

Question Number : 90 Question Id : 3354725420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following keys is used to minimize the active window? | T & & Torg gt @7 Iu=im, Ui Hat
1 AT Fe- & To T AT 27

Options:

1. % windows Logo Key + Home Key

2. % Windows Logo Key + Spacebar Key
2. % windows Logo Key + Up Arrow Key

4. % Windows Logo Key + Down Arrow Key

Question Number : 91 Question Id : 3354725421 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following keys is used to delete the selected text? | Heighe Ty T T &1 T2wile T & oy o
Tl T ST AT T ST 57

Options:

1. % Alt key

= % Ctrl key
3. # End key
4. ¥ Delete key

Question Number : 92 Question Id : 3354725422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A educational institution will generally have which of the following in its dormain narme? | foret 3w aaqa &
ST =8 o 6T &0 & 50 & F4T 5T A1e0?

Options:

1. % org
= ¥ edu
. % com

4 % inst

Question Number : 93 Question Id : 3354725423 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the expansion of SMS? | SMS &7 oeqd & 7 27

Options:
1. % Short Message Service | T8 38 Aide
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2. % Short Mail Service | &7e 0 9o
3. % Simple Mail Service | AU B AfcT
4 % Simple Message Service | TERUa B6= dided

Question Number : 94 Question Id : 3354725424 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
& durrib terrminal has a fan: | S0 TAIA § TE 51aT &

Options:

1. ® Embedded microprocessor | U SIF:F0T AT5w M THeT

2 % Extensive mernory | TEad e HAT

= % Independent processing capability | Eetd2s WETET Fiieer
4. ¥ Kevyboard and a screen | FlaiE o 0@ T

Question Number : 95 Question Id : 3354725425 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which number systern is used by cormnputers to store data and perform calculations? | FHIEEE Gl STeT e 1L dee
T TIOTATT, et o TolT ToeT 31 HOTTeT 3T SO fehaT =T 27

Options:

1. % Binary | ag-r
2. % Octal | Aiged
% % Decimal | AR

4. % Hexadecimal | gFame Gad

Question Number : 96 Question Id : 3354725426 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
________ rurns on the computer hardware and serve asa platform for other software. | _______ HHUA T 2

TR T FRAT & R S |TFea & Ty U qeiehiH & & H &aT W™ #al g
Options:

1. % application software | U1 QIFTdaw

2 % Systern software | Ty AT

3. ¥ Cperating systern | AR BEEd

4 % None of the above | SWigd § & F1E 751

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 97 Question Id : 3354725427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is a termporary memory. |

Options:

1. ¥ Random Access Mernory | {EH Uged HAT
2. % Read As Memory | T1F UF HANT

3. % Read Access Mermory | 112 Uged HAT

4. % Random As Memory | $S7 U= AT

Question Number : 98 Question Id : 3354725428 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

________ option is not available in “Cells” groups of Home tab in MS Excel 2007, | TATH U 2007 H,
TEmey, 510 ¢ F “HA I H IUAG A5l 5raT gl

Options:
1. % Insert | sq@¢
2. % Format | BTHT

= ¥ Sort | |91
4 % Delete | 26T

Question Number : 99 Question Id : 3354725429 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

____________ does not harm the cormputer resource. | ________ ®HIIET WA B 5T T51 TgardT 3]
Options:

1. % Worm | @

2% Virus | areRd

% % Trojan horse | 2T 4
4. ¥ Firewmall | BRdTA

Question Number : 100 Question Id : 3354725430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The shortcut key used to ‘align right’ the selected text in MS Word is: | AU a2 H, Helge 817 T See #1 ‘S0
TATe e & Toi, A aid e gt 0T Ui fopar <maT &

Options:

1. % Ctrl+R
2. % Ctrl+]
3. % Ctrl+U

4 % Ctrl4+L
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